ECLT5820 –Distributed and Mobile Systems
Topic 6: Concurrency Control
1. Serial Equivalence
Give a serially equivalent interleaving of the transactions A and B.
Transaction A: 

   
Read(b); Read(a); Write(b,2); Write(a,3);

Transaction B: 


Read(c); Write(a,1); Read(b); Write(c,4); 

2. Two-Phase Locking
Apply two-phase locking protocol to the schedules below by adding statements like R-lock (A), W-lock(A), and unlock(A).
	T1
	T2

	read(A)
	 

	read(B)
	 

	 
	read(E)

	read(C)
	 

	 
	write(E)

	read(E)
	 

	write(E)
	 


